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80,0003 #4323 x10& *105 32,000
—2ZsHI57Y 300,000& 108 3,000
—E2Y2%H| 1,000,000 =14 1,000
—AE=SHWFHS
6,000,000& 14 6,000
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A 2B F
M MBS SA
Eel: dEHs0Ad &4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2N EHE2SHIEX 121,488 106,240 16,248
OtgAZx==g2d 121,488
—QIAH|(&E) 2,500,0002 1 ~12& 30,000
— I AHI(21H) 2,500,000« 1E* 122 30,000
—QIAHI(AI&Z) 2,500,000« 1H« 122 30,000
—ARIQI2R4=EH(8Y)
16,2003 x20AI 2H+ 123 3,888
~IRA4 (1) 500,000211% 122 6,000
— SIS (BT, 512, AI&)
200,000 x3H *23] 1,200
— NRHRE BB, 51, AI&)
450,000 «3H « 12 16,200
—ShSErrE 250,000 x 122 3,000
—AFESHI 100,000& * 122 1,200
AH2SZIIRSHE(AH]) 857,171 0 557,171
Al 250,727
- 306,444
301 2eEN= 557,171 0 557,171
Al 280,727
T 306,444
Rilstd - 2SFS2EYs 557,171 0 557,171
OXNE2SZ|RUABI(XEXH, H==5) 444,807
—N=X=0 5,000,000&x1&+12& 60,000
Al 27,000
- 33,000
—NEX=& 300,000&x1E 128 3,600
Al 1,620
- 1,980
—H401=(s2/2IIHES)
70,000,000 +34 210,000
Al 94,500
- 115,500
— S (A3) 50,000,000& *2& 100,000
Al 45,000
- 55,000
—NEXNSXEAEX =
300,000 1 300
Al 135
- 165
—SHEE= 39,748,000& 39,748
Al 17,887
- 21,861
—EXHE= 31,159,000 31,189
Al 14,022




2A: 232 AHS U
M ME=E |4
Sl MEHSHA =d (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 17,137
ozl 24,000
—islEXy| 80,000& 6% »302] 14,400
Al 6,480
- 7,920
—&X==3b| 80,0003 x6 203 9,600
Al 4,320
- 5,280
OFHEHIIR2Y 58,364
—=A29H| 1,000,000& *12& 12,000
Al 5,400
- 6,600
—XtAX= 900,000& =123 10,800
Al 4,860
- 5,940
—XteE2gh| 500,000& 12 6,000
Al 2,700
- 3,300
—WEEZH| 200,0002 *1CH 128 2,400
Al 1,080
- 1,320
—SHESLEXYI 24,164,000 24,164
Al 10,873
- 13,291
— &AW 3,000,000 *12] 3,000
Al 1,350
- 1,650
OB ZAZ 30,000,000 30,000
Al 13,500
- 16,500
AERsZIIREY 50,000 50,000
406 J|EF X201 A 50,000 50,000
01 JIEFA =01 A 50,000 50,000
OogxEs3 50,000
—E=sA3NEEZ 50,000,000& 50,000
AZRAHOISAHXIA(3Y]) 789,600 596,220 193,380
| 552,720
Al 118,440
- 118,440
301 LEBENZ 789,600 596,220 193,380
J| 552,720
Al 118,440
- 118,440




A 2B F
M MBS SA
Eel: dEHs0Ad &4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 789,600 536,220 193,380
OAE=ZH0IZT ALY 789,600,000 789,600
Jl 552,720
Al 118,440
- 118,440
ZOjeIAZT=AR0IEA KR (Z2H]) 117,480 72,960 44,520
Jl 82,236
Al 17,622
- 17,622
301 2eEN= 117,480 72,960 44,520
Jl 82,236
Al 17,622
- 17,622
01 Al EE AL S(FREXMH) 117,480 72,960 44,520
OZMNAAEZ=2AZ0IZH AL
117,480,000 117,480
7l 82,236
Al 17,622
- 17,622
HEAL=2EL 2 244,045 221,917 22,128
201 2= 214,045 191,917 22,128
01 AtR2t2lt] 30,552 23,672 6.880
Oget=ZH| 3,032
—SSHMSAEEESLAUEZ M
3,520,000 x80%<E 2> 2,816
—SEMEZN0ESZ I EESH
SRt 107,536 *23] 216
Oo2g=g 11,520
—EEUBAL LI DA BN B ALY
100,000 x6 2 +23| «80%<E 2> 960
—EMSALHBAN2E S
10,560,000 10,560
ogxz 16,000
—ZoIAMSESAOR+EHESES
otz 20,000,000 »80%<E 2> 16,000
2 s5=34l 183,493 168,245 15,248
OZ2Z22ZHAl 86,539
—HSAE2HIINER
1,710,000~ 128 20,520
—HSAEESHoI+=EAE=
40,000 * 122 480
—SSAYLHILEREAISE
10,0003 x 12 120
—SgorEsns 150,000 « 128 1,800
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A 2B F
M MBS SA
Rl dENSHA 4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SHYOIREERMAANBE
60,487,820& 60,488
—HSALEESESHHASH S
3,131,000 3,131
OAlZ EHIs Xl 96,954
—SSHIAEES 80,000,000 80,000
—UHE=UHSMEAS R AL
3, 100&»2,300m’ 7,130
—=S&ZotA0t =S H A== AL
2,593& *1,089m 2,824
—BLIAEFA 2
5,000,000 «80%<& &> 4,000
— 02 2SI = A2e 3,000,000& 3,000
401 Al HIYL S CHYI 30,000 30,000
01 AlZ2H| 30,000 30,000
OI1SIHsSAEES 3,000,000 103 30,000
HESHE2HAEES 175,000 150,000 25,000
307 212+01™ 175,000 150,000 25,000
05 2ItRIE= 175,000 150,000 25,000
OUEEAMS2AAS 2GS
175,000,000 175,000
Sci2HSESYE2HHEMSAIE2S 1,560 11,300 29,740
201 Ler23| 1,560 1,200 360
01 At2teltl 1,560 1,200 360
Odgt=ZH| 1,560
—HEANL2ESLR2ESHY
1,200, 0002 «80%<& 24> 960
—d=0|eR= 50,000 *1CH* 122 600
MENAASEEAAHRUEIMEHMSAL 2 5,820 5,820
201 er23| 960 960
01 At2teltl 960 960
(@)= st =l 960
—HESANEE2SARESTY
1,200,000 x80%<& 2> 960
405 KHaHE SH 4,860 4,860
01 Tt =S F=HI 4,860 4,860
OM==23+¢Y 4,860
—UHIEXI=M 810,000 ~6CH 4,860
OFZOIMU S M S X & (2HI) 100,000 0 100,000
= 40,000
Al 30,000
T 30,000
401 Al HIZL 201 100,000 0 100,000
= 40,000




A 2B F
M MBS SA
Hel dEHs0HH £d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 30,000
T 30,000
01 Al&H| 100,000 0 100,000
OOrS EUM AU HAI I 2=
100,000,000& 100,000
= 40,000
Al 30,000
- 30,000
HSAL X 90,000 70,000 20,000
RIS SIS AL 90,000 70,000 20,000
307 elztol & 90,000 70,000 20,000
04 CIZHHAMAME 2 & 90,000 70,000 20,000
O 2SS &R 90,000,000 90,000
HOHQMEH=HA o 198,252 154,806 43,446
Il 31,302
Al 21,759
- 145,191
el d==g 80,042 81,592 1,550
307 el2to| & 80,042 81,592 1,550
02 2B YAIHE A 30,840 31,640 A800
OHMINTuNAES 26,640
—ZA==g 500,000& x40 &l =123 24,000
—E2SHH 80,0002 *8IH A 640
—=3X&2 500,000 *40H & 2,000
OJIYHNLE=SgNE 4,200
—JtHNEd X
600,000 +7HS= 4,200
03 LM EE2SHIEX 49,202 49,952 AT50
OUE &M= 2EHIXIH 49,202
—AIS=&0I2Y|
2,700,000« 1H*12& 32,400
—&2gH| 16,802,000 16,802
ZOHQI Mt IS X = X XI (=) 62,604 30,528 32,076
7l 31,302
Al 15,651
- 15,651
307 @20l & 62,604 30,528 32,076
Il 31,302
Al 15,651
- 15,651
02 2IZHBYAIAE & 62,604 30,528 32,076
O I HE S X = A X
2,595,000 x 120 E+2H 62,280




2A:

St =0
M dEHE |54
SRl JOHQIMENSHA XY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 31,140
Al 16,570
- 15,570
O HEN SN ESEER
162,000 x2& 324
v 162
Al 81
- 81
ZHOH QI A4 2 I = K S XHHH XI (AlH]) 12,216 5,696 6,520
Al 6,108
T 6,108
307 elztol & 12,216 5,6% 6.520
Al 6,108
- 6,108
02 2IZHBYAIHE £ 12,216 5,696 6,520
OZUALMEMENAESEA=S
12,216,0002 12,216
Al 6,108
- 6,108
ZOH I A & X = K| = K X 6,300 3,600 2,700
307 elztol & 6,300 3,600 2,700
02 IHB A HE L 6,300 3,600 2,700
OY M HENFSXN =S
6,300,000& 6,300
JIHZSESEE 37,090 33,390 3,700
307 el2to| & 37,090 33,390 3,700
04 QIZHHAIAIH 2 £ 37,090 33,390 3,700
OFEFIIZ M S M= HA
1,500,000 65 = 9,000
OZMHAE=HRIE I
3,000,000 3,000
OH I HENFUHIA A
14,400,000& 14,400
OHMHAAEZMS WA 2,500,000 2,500
OF &I H 0N A EFKPOPHAZHATH 3
8,190,000 8,190
HY2HZH|(S22ZHS) 187,292 199,185 A11,893
elIE =g 167,630 176,565 A\8,935
olE =gl 167,630 176,565 A\8B,936
101 212A4H| 167,630 176,565 /8,935
01 2= 65,948 68,661 A2,713
OAlt2I22+E
11,3192 x 17 *30A 2H+ 123+ 1. 02+80%<E 2>
65,948
02 JIEtM == 60,020 67,861 AT,841
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2A:

St =
M HHRAZH|(22Z M=)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIZQAZ 24 (LBHIIIM/1E)
11,3192 #36A1 2h* 128 % 1. 02+80%<E 2> 3,880
O 2SS L (AIRIEHMUIIMCHS) 56,140
—Jl2=s 3,354,660« 1H« 122 40,25
— X &I 40,256,000 *3. 1% 1,248
—due S 41,504, 0002 » 130%*8% 4,317
—JIE2E 60,0002 x1& 122 720
R EEE] 185, 00020 » 12840875 1,943
—FougAlt| 140,000+ 124+ 122 1,680
— 1ot A 3,354, 660! +BAkBO6+40% 970
—S4xoLy 3,354,600 5+ 128 2,013
—AIZhel 4
11,3192 +27 A 2H+ 123+ 1. 02+80%<E 2> 2,993
03 SRA(RIH )22 U2+ 41,662 40,043 1,619
OHSALRIBE (S 2/1Y) 41,662
—Jl=22 2.,105,26021% 124+ 122 25,264
— 410123 2,105, 260212 200% 4,211
—oXRERIEY
15,6802 «BA| 2tx1x20 2,509
—=22= 14,3003 *1. 5+ 1H #120A1 2t 2,591
—X2xd 60,0002 1 * 122 720
—IEsd 480
i< Kt 40,0003 ~1~122 480
—dAZAHI 140,000& x 12+ 123 1,680
— 1w SH| 140,000& x 1= 123 1,680
—SEFOHI 2,105,260 * 1 +60%*22] 2,521
JlI=2dsl 19,662 22,620 N2,958
Jl=23H| 19,662 22,620 N2,958
201 er23y| 13,279 15,821 N2,542
01 AtR2t2|HI 13,279 15,821 N2,542
Odgt==H| 7,710
—SAEE+SH|
10,280,000 *75%<& &> 7,710
O=gl 2,919
—FA2EYRFUSISAYI
8,000 » 19 x24 2 +80%<E &> 2,919
Ogxz 2,650
—&A=EADIEXE
105,000 x1CH= 123 1,260
—d=J|I&8xt= 50,0002« 1CH =12 600
—3J1838JI8R=
32,900 201+ 122 790
202 04| 2,783 3,199 A416
01 =LHOLI 2,783 3,19 A416




FA Se2BHS
. dY2IIHI(S2SMS W)
el JI=2 3
> = -|ll_j
SA - HY - S9I(3) - HIRAY - BES ofl & e
OFAEIERFA0
20,0002 * 192 +3L «80%<E 2> 912
O2r&BHSE =0
97,4003 x4 H +32 #2320 +80U<E 2> 1,871
203 =] 3,600 3,600
M EASHLRFAH 3,600 3,600
ORNSgE =TI 300,000 * 122 3,600
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